BOOKLET CODE 30 QUESTION BOOKLET SERIES (A)
PART -1 ANSWER KEYS
Q.No. Correct Answer  |Marks Q.No. |Correct Answer Marks
1 A 0.5 marks 34 B 1.0 marks
D 0.5 marks 35 C 1.0 marks
2 A 0.5 marks 36 C 1.5 marks
3 D 0.5 marks = C 1.5 marks
3 B 0.5 marks D 1.5 marks
> A 0.5 marks 38 A 1.5 marks
6 C 0.5 marks 39 B 1.5 marks
7 c 0.5 marks 40 A 1.5 marks
8 B 0.5 marks 41 B 1.5 marks
9 D 0.5 marks 42 A 1.5 marks
10 C 0.5 marks 43 A 1.5 marks
11 A 0.5 marks 44 A 1.5 marks
12 C 0.5 marks 45 A 1.5 marks
13 B 0.5 marks 46 B 1.5 marks
14 D 0.5 marks 47 D 1.5 marks
T A 0.5 marks 48 B 1.5 marks
C 0.5 marks 49 c 1.5 marks
16 A 0.5 marks 50 D 1.5 marks
17 C 0.5 marks 51 C 1.5 marks
18 D 0.5 marks A = 2.0 marks
D = 1.0 marks 52 A B = 0.5 marks
19 D A =0.25 marks C =0.25 marks
B =0.25 marks D =0.25 marks
C = 0.25 marks 53 & 2.0 marks
20 B 1.0 marks 54 A A = 2.0 marks
21 D 1.0 marks C =1.5 marks
22 B 1.0 marks 55 B 2.0 marks
23 ¢ /0 mvavks B = 3.0 marks
24 B 1.0 marks 56 B A
25 C o ' C=0.5 marks
26 A 10 Frarke D = 0.5 marks
el c 1.0 marks 2l G 3.0 marks
28 A 1.0 marks C=3.0 marks
29 C 1.0 marks 58 C B=1.5 marks
30 D 1.0 marks D=1.5 marks
31 B 1.0 marks C = 3.0 marks
32 B 1.0 marks 59 & A = 1.0 marks
33 D 1.0 marks B = 1.0 marks

Option not mentioned above against Q.No. is incorrect answer and carries "0" (zero) marks. -




QUESTION BOOKLET SERIES (H)

ANSWER KEYS

BOOKLET CODE 30
PART -1
Q.No Correct Answer [Marks
1 A 0.5 marks
2 B 0.5 marks
3 c 0.5 marks
4 B 0.5 marks
5 c 0.5 marks
6 c 0.5 marks
7 D 0.5 marks
8 A 0.5 marks
9 D 0.5 marks
10 A 0.5 marks
D 0.5 marks
11 D 0.5 marks
12 A 0.5 marks
13 C 0.5 marks
14 D 0.5 marks
15 A 0.5 marks
16 B 0.5 marks
17 A 0.5 marks
C 0.5 marks
18 c 0.5 marks
19 C 1.0 marks
ot A 1.0 marks
21 G 1.0 marks
22 A 1.0 marks
23 B 1.0 marks,
24 D 1.0 marks
25 B 1.0 marks
26 C 1.0 marks
27 C 1.0 marks
28 D 1.0 marks
29 B 1.0 marks
D = 1.0 marks
A =0.25 marks
=4 D B = 0.25 marks
C=0.25 marks
31 1.0 marks
32 D 1.0 marks
33 1.0 marks

Option not mentioned above against Q.No. is incorrect answer and carries "0" {zero) marks.

Q.No. Correct Answer Marks
34 c 1.0 marks
35 B 1.0 marks
36 A 1.5 marks
37 B 1.5 marks
38 B 1.5 marks
39 D 1.5 marks
40 B 1.5 marks
41 C 1.5 marks
42 C 1.5 marks
15 C 1.5 marks
D 1.5 marks
44 A 1.5 marks
45 B 1.5 marks
46 A 1.5 marks
a7 A 1.5 marks
48 A 1.5 marks
49 A 1.5 marks
50 D 1.5 marks
51 C 1.5 marks
A = 2.0 marks
B = 0.5 marks
22 A C =0.25 marks
D =0.25 marks
53 2.0 marks
54 B 2.0 marks
A =2.0 marks
23 A C=1.5 marks
B = 3.0 marks
A =0.5 marks
56 B C = 0.5 marks
D = 0.5 marks
G= 3..0 marks
57 C A =1.0 marks
g B =1.0 marks
58 c 3.0 marks
C=3.0 marks
59 C B=1.5 marks
D=1.5 marks




BOOKLET CODE 30 QUESTION BOOKLET SERIES (W)
PART -1 ANSWER KEYS
Q.No Correct Answer  Marks Q.No. Correct Answer Marks
1 B 0.5 marks 35 c 1.0 marks
2 A 0.5 marks 36 B 1.5 marks
3 C 0.5 marks 37 D 1.5 marks
4 C 0.5 marks 38 B 1.5 marks
5 A 0.5 marks 39 C 1.5 marks
6 C 0.5 marks 0 C 1.5 marks
7 A 0.5 marks D 1.5 marks
8 C 0.5 marks 41 A 1.5 marks
9 D 0.5 marks 42 B 1.5 marks
10 A 0.5 marks 43 A 1.5 marks
D 0.5 marks 44 B 1.5 marks
11 A 0.5 marks 45 A 1.5 marks
12 D 0.5 marks 46 A 1.5 marks
13 C 0.5 marks 47 A 1.5 marks
14 B 0.5 marks 48 A 1.5 marks
15 D 0.5 marks 49 C 1.5 marks
16 B 0.5 marks 50 C 1.5 marks
17 D 0.5 marks 51 D 1.5 marks
A 0.5 foatie A =2.0 marks

i C 0.5 marks B =0.5 marks
19 B 1'0/marks 2 4 C=0.25 marks
20 B T D =0.25 marks
21 B 1.0 marks 53 c 2.0 marks

D = 1.0 mdrks A =2.0 marks

54 A

22 D A =0.25 marks C=1.5 marks

B = 0.25 marks 55 B 2.0 marks

C =0.25 marks B =3.0 marks
23 D 1.0 marks A = 0.5 marks
24 C IS 56 B C = 0.5 marks
25 c o D :.0.5 marks
26 A 1.0 marks C=3.0 marks
27 C Oanks 57 C A =1.0 marks
28 A 1.0 marks B = 1.0 marks
29 B 1.0 marks 58 C 3.0 marks
30 D 1.0 marks C=3.0 marks
31 & 1.0 marks 59 C B=1.5 marks
32 D 1.0 marks D=1.5 marks
33 B 1.0 marks
34 B 1.0 marks

Option not mentioned above against Q.No. is incorrect answer and carries "0" (zero) marks. |




BOOKLET CODE 30 QUESTION BOOKLET SERIES (P)
PART -1 ANSWER KEYS
Q.No Correct Answer  Marks Q.No. Correct Answer Marks
1 D 0.5 marks 34 B 1.0 marks
2 B 0.5 marks 35 C 1.0 marks
3 C 0.5 marks 36 A 1.5 marks
4 B 0.5 marks 37 B 1.5 marks
5 A 0.5 marks 38 C 1.5 marks
6 C 0.5 marks 5 ¢ 1.5 marks
g A 0.5 marks D 1.5 marks
C 0.5 marks 40 B 1.5 marks
8 A 0.5 marks 41 A 1.5 marks
9 D 0.5 marks 42 A 1.5 marks
0 A 0.5 marks 43 A 1.5 marks
D 0.5 marks 44 A 1.5 marks
L A 0.5 marks 45 A 1.5 marks
12 A 0.5 marks 46 B 1.5 marks
13 C 0.5 marks 47 C 1.5 marks
14 D 0.5 marks 48 D 1.5 marks
15 C 0.5 marks 49 C 1.5 marks
16 B 0.5 marks 50 D 1.5 marks
17 D 0.5 marks 51 B 1.5 marks
18 C 0.5 marks 52 c 2.0 marks
19 A B0 mmiarks A =2.0 marks
20 A 1.0 marks 53 A B = 0.5 marks
21 & 1.0 marks C =0.25 marks
22 C 1.0 marks D = 0.25 marks
23 B 1.0 marks ¥ A =2.0 marks
24 C T marks i & C =1.5 marks
25 g 1.0 marks 35 B slmane
# 1.0 marks C=3.0 marks
27 D 1.0 marks 56 C B=1.5 marks
28 B 0\ marks D=1.5 marks
29 & 10 marks 57 c 3.0 marks
30 D 10 Frarks B = 3.0 marks
31 B 1.0 rrakks -~ . A =0.5 marks
32 B 10 arks C=0.5marks
D = 1.0 marks D =0.5 marks
A =0.25 marks C=3.0 marks
33 D
B =0.25 marks 59 & A =1.0 marks
C=0.25 marks B=1.0/marks

Option not mentioned above against Q.No. is incorrect answer and carries "0" {zero) marks.
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